34,51 + 22,09 = 512 + 15,77 =

212008 | 3]y [ AEIEIR
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A mxvomm et ,om_oc._m. _
_ i m
[ " 18,68 + 47 = 4,9 + 19,68 = 11,3 + 27,76 = :
i [f3)olo] [ MPels| [2]194]¢]
o+ 81618 +| |L9O| +|1]4]3|0] i
6|5/6]8 A muOmm
10,6 + 17,28+ 8,15 = 12,66 + 8,08 + 9,02 = m

3 111923 Hla |6 |
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O] + g 1415 + 808 ] i
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i caoul ,

m.\_u0ma et calcule.
m 17,22 + 14,85 = 9,81+3,6= 19,48 + 14,23 = m
NrERD Vs 1| Prlo]@s] i
“m+ ;r.m,m + .w.m‘ A RICEPAE “
L lafol¥]| [MTa]uld] [ [2]2]*[4] |
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m.\.vowm et calcule.
19 +17,81 = 16,17 + 5,97 = 5,12 + 13,6 =
i Plslolo| [HEAR[ 156 0] |
+ |13 . 311 + 519 |+ * 51| .
| [BTe[8[T]| [2[a[4x 118 ¥2] |
Galcul
Pose et calcule.
1481+6,35+1572=  19,23+7,2+10,05=  057+7,42+819= |
P RP1le] Paol2]s g Pgl |
P4 (814 +|4lolols| | [Fu|2
P+ le]3l5 ] +| |1]2|o| | |O|5|1] i
i |3]6]8]|8 3|6, u|8 116]4 (8] |



